A0S K ST H AR AR S (A~6 ) FE AR RDEM B 5 A REM  FBE6 A MEH
KEEE Kt WA RAE [ [Gkk [ R R e ORI TR A, <SR [ Bi5A R
& |HH Sy ¥ | BT [REEERE | OKIED OKJ5) (k) . éﬁéﬁ/k)fi) é%ﬁ/k’r’i) é%ﬁ/k’r’i) é%ﬁ/k’r’i) é%ﬁ/k@)
y E = 15 T
1 [ ﬁ ] tml P LOOLLF |- - 27 0 0 0 0 0 0 0
Ji - - 37 0 0 0 0 0 0 0
— A s E E <18 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN o it shan o Y- - <1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - <18 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - = = 0.0003 7% _[0.0003<T% _[0.0003 KT |- = - - R
K3 |IRIT LK EFDLE Y mg/1[0.003LL T - - 0.00037% 10.00034% |- 0.00037%  [0.00037#  [0.000373 [0.000373  [0.00031
- - 000034 o,ooosﬁmﬁ - —t - - - -
E = E 0.000054<1% |0.00006A7m |- = = = E
4 KRB OZEDILED mg/1{0.0005LLF |- - - - - - - - - -
0.000054i#% [0.0000541 |- - - - - - - -
- - E - 0.00 47w [0-001ATm  [0.00 40w |- - - - -
5 | BL U R OEDILE Y A mg/1]10.01LLF - - 0.0014#  |0.001AKm |- 0.0014%  [0.001A%  [0.0014%  [0.0014  0.0014#
R - - 0.0014%#  |0.00U4 |- - , z 7 v
- & = = 0.001A3m _ [0-00 A [0-00 RTm |- - - - -
6 [$p DAY mg/1{0.01LL T - - 0.00L4  [0.0014m |- 0.001A  [0.00144#  |0.001A44  [0.0014  [0.001 A
- - 0.00144  [0.00144 |- - - - - -
- - = = 0.00L A% |0.00LAm  [0-00LAKwm |- N N R -
7 e R NEOILEY mg/1{0.01LLF - - 0.001 A8 o.omigg - 0.00155  |0.001i#%  [0.00155  [0.001Ki%  [0.0015i%
- - 0.001 0.001 £ - - - - - -
- = = 0.0020m _ [0-002A44m _ [0-002KTm |- - - - -
8 |tz e AW mg/1[0.02LLF - - 0.002A48  [0.00240 |- 0.002A448  10.002A0  [0.0024%%  0.002K78  [0.002A4%i
- - 0.0024¢ o.oozii% T - - - -
E = E 0.004K] 0,004 E = = = =
JE9 |HfEERRE S R mg/1{0.04LL F - - - - - - - - - -
0.0044%# 000454 |- - - - - - - -
. pns - - - - - 0.001A7m  |0.00ATm  |0.001A%m  |0.001 4w |0.001Aqwg
H10|> T A AA L RO LTy | o [meg/1]0.018LTF - - - - - - - - - -
% 0.001Ki% |o.001ki |- - rm - - - - -
P ST L e B N - - - TR T = = — — —
LR R CEREEEE | o [meiloo T | - - ! ! - - - - -
1 1A 1A - 6 = 6 = - - - - -
12| 7y R K OEDIED mg/1{0.824F - - - - - - - - - -
0.10 0.08% |- — — - - - - -
E = E 0.k (BES E = = = =
13| R R REDILAY g fosi - - - - e - - - -
& 01438 0.1 - - - - - - - -
N B - 0.0002AKT% [0.0002A [0.0002KTm |- - - - -
F14| AR SR mg/1)0.002L4F |- - - - - 0.0002:4#  [0.00024i#%  0.000255#  0.00024%  0.0002547%
- N - = = = 0.005KT% _ [0-005KTm |- = = = =
H15|1, 4—TA XY mg/1]0.05LLF - - - - - - - - - -
— 0.0054%#  |0.0055 |- R T . - - - -
- E = 00047 00044 0.004457 E = = = =
16l =, o) —1, 2¥/mnxFLv 75 mg/1]0.04L4L - - - - ! - 0.004A5#  10.004401  [0.0045K4#  |0.004A4w  [0.0047i
- N i - = = 0.002AT%  [0.00270m  [0.0024m |- R R R R
S VIPZ4=i=5 Y % v mg/1)0.028L F - - - - - 0.0024%#  0.0024%%  |0.0027%  [0.0025%5  [0.002K
— 2 = - 0.00TAw  |0.00Km  [0.001AKwm |- - - - -
187 v ranFL gy |me/1)0.0184TF - - - - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
- 7 - E = 0.00LK  |0.00km  [0.000Km |- = = = =
H19|M o FL mg/1{0.01LL F - - - - - 0.001K7  [0.001K  [0.001K  [0.001K  [0.0014K0H
— E E 0.001m  [0-001  [0.00140m |- - - - -
Hoo| B mg/1{0.01LL F - - - - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
- - E = E E E 0.07 0.08 0.07 0.07 0.07
o1 | iR mg/1{0.6L1 F - - - - - - - - - -
0.06%  |0.0654# |- - - - - - - -
o - E = E = E 0.002m  |0-002k1%  |0-002k7  |0.00250  [0.002HK1m
22|/ mafEE mg/1]0.02LL F - - - - - - - - - -
- E = E 0.008 0.006KTm |- = = = =
Bi2R] Pa=ini iV VN mg/1]0.06 24 F - - - - - 0.00644  10.008 0.006A44  10.0064  [0.00641
N - E = E = E 0.003 _ [0-0037%  [0-0037% _ [0.003 0.003 K1
24|y anafilg mg/1]0.03LL F - - - - - - - - - -
S = = = 0.0 T 0.0 = = - - -
Hos|ornErmnaz W g /oasir - - - - - 0.01 ootk 0.0l 0.01 0,015
= _ _ _ _ _ e e e s o
- &l E = E = E 0.002 0.001 0.001 0.002 0.002
Fo6| RAEE i mg/1]0.01LLF - - - - - - - - - -
; E = E 0.01 0.01 E E E E =
H2TIRR N A ZZ mg/10.1LLF - - - - - 0.01 0.02 0.01 0.02 0.01
- E = E = E 0.003%  |0-0031%  |0-003k7  |0.0030  [0.003K1m
28| Ny fkg mg/1]0.03LL F - - - - - - - - - -
= = = 0.003 0.003 KM |- R R R R
pros] il = dei=g s mg/1]0.03L4 F - - - - - 0.005 0.006 0.004 0.005 0.003
N E = E 0.000km  |0.000KTm |- = = = =
H30| 7 mEARL L mg/1]0.09LL - - - - - 0.0094%#  0.0094#  |0.0097c  [0.0095%  [0.0095i
N - E E E E E 0,004 |0-0087% _ |0.0080T  |0.008w _ [0.008Am
31| AT LTER mg/1]0.08L4 - - - - - - - - - -
- - - (IR ST NS S (OVF S/ R - - - -
32| High Kk DAY mg/1|1.08LF - - 0. 1445 0.1K1% - 0. 140 RS RS RS RS
- - 8‘%@ g'égkz;mﬁ% N EST - - - -
— — = XEST: XPERD — — — — —
33T A= LR EDALE W % mg/1[0.200 F - - 835 885*4&7 - 0.02:K 0.02K 0.02K 0.02K 0.02K
- B = = 0.14 0.0 [0.05RE |- N N N N
34| K NEDILEY mg/1[0.30LF - - 812 88&/% - 0,034 0.034%5 003445 0.034%5 00344
- - .1 03A - - - - - -
E E 0. LR 0. Uk (RER = = = = R
F35|8i K O DAY mg/1{1.0LLF - - 0. 1A 0. 1K - 0. 14 0. 14 0. 14 0. 14 0. 15K
- - 0.1;;#5 0.1327#& - - - - - -
E = T2. 4. 4.7 E E E E E
H36| T MY LR NEDILEY iﬁ mg/1|200L4 T - - 11.1 13.3 - 14.9 14.5 15.2 14.4 15.9
- - 10.5 12.4 - - - - - -
- - - E E 0.008 0.00650m  |0.0050m |- = = = R
W37~ B R OZFEDLAEWY 4, lmg/1[0.05LLF - - 88(1)8 ggga?r%ﬁ - 0.0055K7  [0.0055k5  [0.0055k5  [0.0055K5  [0.00554K
_ _ 00¢ 0skiE |- s s s s s
E = 75 1.9 6.7 7.1 4.3 16.0 6.4 5.7
H38| Mk A4 mg/1|200L4F - - 7.3 11.3 14.3 16.7 14.8 16.2 16.7 16.7
- - 7.2 10.9 13.3 14.3 1.4 14.3 13.1 13.8
E E 85 63 13 E E E E E
39BN A T R N () g mg/1|300LL T - - 66 60 - 16 50 45 45 43
- - 54 47 - - - - - -
E = 96 94 79 E E E E =
JLAO| R IRE mg/1|/500L4 F - - 93 84 - 107 97 98 105 96
- - 106 90 - - - - - -




% = = = 0.02K 0.02%Tm |- - - - -

FA1|paAs A FRimiE A v |ms/1fo-281F - - - - - - - -
Tel 0.027¢  |0.02 |- - - - - - - -
4ol oA A 7> |mg/1]0.00001LLF |- - - - - - - - - -
o 0.000001 0.0000012(‘2_@' - - - 0.000001)2'2._#&“;]0.000001Kiﬁ]0.00000IKiﬁ]0.00000IK’iﬁ](}.OOOOOlK"Zﬁl
Fd3|2— AF NAVRL A —L 5 |mg/1[0.00001LL F - - -

0.000001 0.00000 1 A | — 0.000001 A#1ifif 0.000001 A i} 0.000001 A:iii| 0.000001 A i) 0. 00000 1 A i

- 000 000

P4
Feaa| A FmEIEHEH] ’E mg/1]0.02LL F - - - - _ _ - B
1 0.003 0002k |- - - - - - - -
- 3] = = = 0.0005KT8 _[0.00054 |- - - -
45| 7 = /) — VI L |me/1{0.005L4F |- - - - - - - - - -
v 0.00055 _|0.00054H |- - - - - -
- E = E = E 0.7 0.8 0.7 0.7 0.7
Tea6| A (AT (TOC) DB | 2 |mefset v - - - - - 01 08 07 07 07
i 2.2 2.1 - - - 0.7 0.8 0.7 0.7 0.7
- E = T21% T.13% 7.28% 7.57 7.39 7.3 771 7.39
Fa7|pHE 5.8~8.6 - - 7.20% 7.07% 7.23% 7.32 7.14 7.2 7.50 7.22
- - 7.23% 7.06% 7.18% 7.31 7.10 7.3 7.98 7.28
‘ - - - FRAULx  PLERLx [EFEARL TRl LS TRl TRl
S48k ) RE TN - - AR P AU AU el [l
prS - - - S Lx  |REAL.  [REL S £ S S
) — T " = = T L A S A £ /DR /D S Twel [ Ew7el
HA9| R ¥ BTN - I 5k Rprple  |Baale [Basal o [Reel o (R Rl (Rl
- - B HE Lk HE L HERL SERL £ SRl SERL
I® E = 5.4% 0 ; 0.5 0% 0.0 0.5 0. 0.5 0.5
50| @ - B - - 6.0% 0.5 0.5 0.5k 0.5 0. 0.6 0.
- - 6.6% 0. 0.540% _[0.f 0.5 0. 0.7 0.f
— |- E - I.1* 0. 0.2 0.2 0.2K] 0. 0.2 0.2
H51| W BE 2L F - - 3.5% 0. 0.2+ 0.2 0.2 0. 0.2 0.
- - 2.3% 0. 0.2 0.2 0.2K] 0. 0.2 0.

3T [T fiE



AR 3 B PR A R e T H IR A AE R (A~6 1) FE AR RDEM B 5 A REM  FBE6 A MEH
AP PR AT R E T Kt it it AAKH KL P [ ARAKSE K [ROBEB E BORS 2 fi [ R S T IRBORIN 0 A< oA | BT A
& |HH A EREA T OKIE) OKJ5) (k) Gaate)  [Gekke)  |Gakk)  |GekE) | Gokir)
H1|7vFE=ROBEDILED mg/1{0.02L4 F - - - - - - - - - -
0.0025%# 00025 |- - - - - - - -
H2 |07 ROZEDLEY mg/1|0.0022) T (5 5)|- - - - - - - - - _
0.00025i# 000024 |- - - - - - - -
B3 |=or A ROEDay mg/l0.02AF |- -k - - - - - - -
0.002%#  |0.0025K4 |- - - - - - - -
H4 Ak
R = = 0.0004°K7# 0.0004AKm  [0.0004Km |- N N N -
H5 |1, 2—Y/muxfy mg/1]0.004LL - - - - - 0.000444#  [0.000474#  [0.000474#  [0.00044#  [0.0004 A4
H6 [Hikx
H7 [HIBR
= = [ZE S (VS (N E S - - - -
H8 |hMr=y mg/1)0.4LLF - - - - - 0.04A4i# 0.04A4i 0.04A4i 0.04A4i 0.04A7i5
A9 | 720 (2—=FL~FiL) mg/lfo.0sF |- - - - - - - - - -
0.0084%i# 000854 |- 0.008H |- - - - - -
F 10| i 2w mg/1/0.6L4F AL TRV AR
H11[HIBR
Hi12| =ik mg/1{0.6L4F AL TRV BRAEE IS
H13|>smarer=rin me/1[0.0180 F |- - - - - - - - - -
0.0014#  |0.00144H |- 0.0014H |- - - - - -
H14|fakra7—n mg/1)0.0284 T (i) - - - - - - - - - -
0.0024%#  |0.0025K4H |- 0.0024H |- - - - - -
H 15[ % s 1T - - - - - - - - - -
0. 1A 0. LA - 0. LA - - - - - -
E = E 0.7% 0.8% 0.7 0.6 0.6 0.5 0.7
H16|7&HiEH mg/I|1LLF - - - 0.7% 0.8% 0.6 0.5 0.7 0.6 0.7
- - - 0.7% 0.8% 0.7 0.5 0.7 0.4 0.7
— E = 85 63 13 = = = = =
ERNY VAN Sy FN- (73 mg/1{10~100 - - 66 60 - 16 50 45 45 43
- - 54 47 - - - - - -
. . = = 0.008 0.00 K7 [0-001 = = = = E
H18[~> o B OEDILA mg/1[0.01LLF - - 0.016 0.0014 |- 0.002 0.001 0.002 0.002 0.001
- - 0.009 0.00LKiH |- - - - - -
o - E = 35 2.6 756 E = = = =
H 19|zt e g mg/1|2084 F - - - - - 2.6 3.5 2.6 2.6 2.6
= E 0.03K% 0.034Tm __ [0-030m |- - - - -
H20[|1, 1, 1—RN)I/manxz mg/1]0.3LLF - - - - - 0.03 A 0.03Ai5 0.03Ai5 0.03Ai5 0.03Ai5
H21[AF NV —t—TF FLT—F /L (MTE mg/1{0.02LLF - - - - - - - - - -
0.0025%#  |0.0025 |- - - - - - - -
E = 6.6 1.6 T6 = = = = =
H 22|~ T g L i mg/1|3LLF - - 8.2 2.5 - 2.2 2.2 1.9 2.2 1.9
- - 8.2 2.8 - - - - - -
E = 3 1 T E E E E =
H 23| R4 E (TON) 3LUF - - - - - 1 1 1 1 1
E = 96 97 79 E = = = =
H 24|78 5724 mg/1{30~200 - - 93 84 - 107 97 98 105 96
- - 106 90 - - - - - -
- - - - (L O.RT 0. LAcmi* 0. LA 0. R 0.RT 0. KT [NESN
H25(W I DY - - 3.5% 0. 1Ai* 0. 1A 0.1 0. 1A 0.1 0.1 (BEST}
- - 2.3% 0. Uk |0, URix [0, Lkl 0. UK 0. UK 0. UK 0. U
E = T.21% 7.13% 7.28% 757 7.39 7.39 771 7.39
H 26|pHfHE 7.5F - - 7.20% 7.07% 7.23% 7.32 7.14 7.21 7.50 7.22
- - 7.23% 7.06% 7.18% 7.31 7.10 7.31 7.98 7.28
E = =1.0 =T.1 =1.0 E E E E =
H27|Eat (77 5 -1~0 - - - - - -1.0 -1.0 1.0 0.7 1.0
JN P e[ 1mirpi200021 [ - 212 0 0 N - - - :
H 28| 1t Jm s A HK T () - - - - - 10 8 T 6 5
N - = = 0.0 1R 0.01 K1 0.0 KT - - - - =
H29(1, 1—Y /s mg/1{0.1LLF - - - - - 0.0 0.01A 0.01A 0.01AH 0.01 A5
E = 0.24 0.01 0.01 E E E E E
H30[7 A= AR OZDEY mg/1[0.1LLF - - 0.21 0.01 - 0.01 0.01 0.01 0.01 0.01
- - 0.20 0.02 - - - - - -
A31 NI AR ) B ANVES R (PROS) mg/1[0:000058LF | - - - - - - - - -
B O AT VA s 5 (PEOA) S| () . - 0.0000061  |0.0000081 |- . . . . ,
w13 H FPEAIfE
ZOfhIH Kt i Bt FAH VKM O [k | Rt a ] Gsep ] B ekl /<o A | BZans A
HH BT OkiR) Ok ) (k) Akke) | GEkaR) [ Glakee) | Gekde) | Giekie)
E = 13.6% T2.5% T6.2% 2.5 22. 7.1 16.4 17.0
KR T - - 17.4% 17.8% 19.1% 18.2 25.6 20.6 22.2 21.5
- - 21.1% 21.4% 22.9% 20.8 31.8 24.0 25.6 25.9
E E 12.3% 10.5% 11.0 E E E E E
T IV mg/1 - - 39.0% 38.7% - 40.0 40.0 40.0 39.0 40.0
- - 38.8% 36.3% - - - - - -
- E = 7.0 3.0 3.0 E E E E E
KAWAIE mg/1 - - 4.0 1.0 - 3.0 4.0 3.0 3.0 3.0
- - 3.0 3.0 - - - - - -
VONAS S VNASN (10LH) - - - - - - - - - -
- - friEd - - - - - - -

A R AE



A 34 R MORE R A L (64 14 H FEffe)

A Kith it kL O
5 | g | B fEme/L) | OKIE) Ok )
11, 3—Y7uprur (D—D) B dAl 10.05LL T 0.0005 A4 0.0005A |0.0005 A
2]2, 2—DPA(F¥FH) Bl 0.0854 0.00084i ]0.0008Aji [0.0008 A
3[2, 4—D(2, 4—PA) Bl 0.020L F 0.00024%4# ]0.000241i#5 0.00024:45
4|EPN Al 10.004LL F 0.000045i#0.000045#|0.00004 5 it
5[MCPA Bl 10.005L F 0.000055i |0.00005 4 [0.00005 A4
6|7 =T Bl 10.900 F 0.009A# |0.00947H [0.009 A
|7re7e—h A b At 10.006LL 0.0000644i# | 0.00006 A1j# | 0.00006 A it
8| 7hFv PRl 0.0100F 0.0001 A 10.0001 A 10.000 1 A:Ji
9|7 =nkR PRl 0.003LA T 0.000034if|0.00003 i [0.00003 A
10| 73R X A hig 10.00604 0.00006A1i#i [ 0.00006 473 | 0.00006 A i
ul|rsza—n BREEA 0.0304 T 0.0003 A4 ]0.00034i [0.0003 A
2| /FYFA A Al 10.005LL F 0.0000544i#i[0.00005 473 | 0.00005 A i
13| AV T =2 R A AABEA] 10.001LLF 0.00001 A |0.00001 i [0.0000 1 A
14|47 v 7 (MIPC) Al 00100 F 0.0001 A 10.0001 A 10.000 1 A ]
15|07 aF45. 1PT) A A 0300 T 0.0037# |0.003A47H 0.003 A4
16|47~ 7Rk (IBP) Al 0.0900 F 0.0009A4i# ]0.0009Ai# [0.0009 A
Wi B 4 A% m i 0.006 24 T 0.00006A1i#i [ 0.00006 473 | 0.00006 A i
BI(H )77 Bl 0.00980 T 0.00009A1ii [ 0.00009 473 | 0.00009 A i
l=xFuhL7 BREEA 0.0304 T 0.0003 A4 ]0.0003Ai [0.0003 A
20|xh T Fuy s A At |0.080L T 0.00084i# 10.0008 A5 10.0008 A:Ji
21TV ANV T 7o (R T Y) Al 00100 F 0.0001 A 10.0001 A5 10.000 1A ]
22| A rm AR Bl [0.0200F 0.00024i# 10.000244#5 10.0002 415
23| A% L4 (A7 B H) A A 0.030L T 0.0003 A4 ]0.0003Ai [0.0003 A
24[AVH AP A Al 0104 0.001K{# |0.001A&{H 0.001AjH
25| W AV IRA A Al 10.000604 T 0.00000641 [0.000006 44| 0.000006 A
267 x  Ab—/L A% mFfh 0.00804 0.00008A4ii [ 0.00008 473 | 0.00008 Ay
20| INB YT A Al |0.080L T 0.0008Aif |0.0008A4i# |0.0008 A7
28|11V UL (NAC) Al 0.0200 F 0.0002Aif 10.000244i#5 10.0002 471
9| INVARTT A3 10.00032L T ]0.000003 41 [0.000003 44| 0.000003 A
30|% /273 (ACN) BREEA [0.005040 0.000054i#|0.00005 44 [0.00005 A
R E g Al 030 T 0.0037i# |0.003A7H 0.003 A4
32|73 BREEA 0.0304 T 0.00034i# ]0.0003i# [0.0003 A
33| 7 Vi —h Bl (200 F 0.0248  10.0244  [0.0244
34|/ iy F—b RS |0.0204 T 0.0002Aif 10.0002445#5 10.0002A4: 71
35|rurFuy s BREEA 0.0200 0.0002Aif 10.0002445#5 10.00024: 41
36|/ =Fa 7= (CNP) [ [0.0001LF  ]0.00001A#]0.00001 A1 [0.0000 1 A
37|77 EURA AW 10.00304 F 0.00003 A4 [0.00003 473 | 0.00003 A
38|7musu=)L (TPN) A Al |0.058L 0.0005i# ]0.0005Ai# [0.0005Ai
R1t] e BREEA [0.00104 T 0.0000141#0.0000 1 A1#0.0000 1 A
40|27 /A (CYAP) A m 10.00304 F 0.00003 A4 [0.00003 473 | 0.00003 A
41| (DCMU) BREEA 0.0204 T 0.0002Aif 10.000244i#5 10.0002 471
427~ =)L (DBN) BREEA 0.0304 T 0.00034i# ]0.0003i [0.0003 A
43|27 1)LR A (DDVP) A mF 10.00804 F 0.00008A4i#[0.00008 413 | 0.00008 A
44| 7T vk FRESA 0.0104 T 0.0001 i ]0.0001 i [0.0001 A
45| VAN (EF LT A RAR) AW 10.00400 F 0.00004A4i#[0.00004 473 | 0.00004 A
46| CF A IS ARSI A% dFh |0.00500 T+ ]0.00054 ]0.0005Ai5 |0.0005 A5
4T[CFAEL BREEA [0.00900 0.00009i# |0.00009 41 [0.00009 A
48| Ry ST F FREA 0.00604 T 0.0000644i# |0.00006 41 [0.00006 A
49|32~ (CAT) BrEAl 0.003L0 T 0.00003A4i#[0.00003 473 | 0.00003 A
50| AX AN FRESHA 0.0204 0.000254if ]0.00025i# [0.0002A
51| AbE—h AW 0.05L4 T 0.00054i# 0.0005A |0.0005 A4
52[v ARV FRESA 0.0304 T 0.000351 10.000344# [0.0003 A
S3EATV ) A% i 10.00304 F 0.00003A4i#[0.00003 473 | 0.00003 A
54[F AL A% i |0.800 T 0.008A [0.008&1#i |0.008Ai
554 dyb MAGI—N B R OAFNAYFAY TR | AEEH] |0.0184 T+ 10.0001 A4 |0.0001 A7 |0.0001 A
56| F TV =1 A% A 0100 T 0.001A7H [0.001K7# |0.001 A
57[F VT4 A% i |0.0204 F 0.00024i# [0.0002A7 |0.0002A:1
58| FATHNT A mF 0.08LA T 0.00084i#i [0.0008A |0.0008 ]
59| F AT 7 R— ATV A% i 0300 T 0.0034H [0.003A4  [0.003Kil
60[F AT Bzl [0.0200 F 0.00024# [0.0002A4 0000244
61| T 7V RIAY Bzl [0.00204 F 0.0000244i#[0.00002 443 | 0.00002 A
62|77 H1)L 7 (MBPMC) BrEiAl [0.0200 F 0.00024# [0.0002A4 0000244
63|h)rae L Bzl [0.006L4 F 0.00006A4i#[0.00006 443 | 0.00006 A
64|h) 2Ly (DEP) AW 0.00500 F 0.00005A4i#[0.00005 443 | 0.00005 A
65[N I T/ — A A 0. 100 0.001A%H [0.001&1 0.001 A
66|PI 7L T Bzl [0.0600 F 0.0006A4i# [0.0006A1 |0.0006 A4
67|+ 7w 3K Bzl 0.0300 F 0.0003&4# [0.0003A4 |0.0003 A4
68|37 —h Bz [0.00584 F 0.0000544i#[0.00005 443 | 0.00005 A
69[ "~k BREi#&l [0.0009L4 F  ]0.000009 41 |0.000009 4 |0.000009 At
0|e7ra=/1 Bl [0.0100 F 0.0001 4 [0.0001A4 |0.0001 A:f
EFI/ T izl [0.0044 F 0.00004 A4 [0.00004 445 | 0.00004 A
2[EF7/V b (T —h) Bkl [0.0200 F 0.00024# [0.0002A4 |0.0002 A4
BV Tz F A AW 10.00200 F 0.0000244i#[0.00002 443 | 0.00002 A
AV TFHNT Bzl [0.0200 F 0.00024# [0.0002A4 0000244
5] === A% d i |0.0504 F 0.00054i# 0.0005A44 |0.0005 A4
6|74 7a=L 2% dFh 10.0005LL T 0.00000544#]0.000005 4| 0.000005 A< i
17| 7 ==taF A4 (MEP) A% i |0.0104F 0.0001 4 [0.0001A4 |0.0001 A:f
78|77 = /)7 TV 7 (BPMC) A% i 0.0304 F 0.00034# 0.0003A4 |0.0003 A4
9| TV A% i |0.0504 F 0.00054# 0.0005A |0.0005 A4
80|7=vF AL (MPP) A mF 0.00604 F 0.00006A#[0.00006 445 | 0.00006 A
81|77 hx—h(PAP) A% Al 0.00720 F 0.00007 A [0.00007 A:45# | 0.00007 A
82| 7  hFHIK Bl 0.0100F 0.0001 4 [0.0001A4H 10.0001 A




83[7HFAK A dFh 0120 T 0.001K{# 0.001AK{# 0.001AjH
ol e A=l Bzl [0.0300 F 0.0003A4 [0.00034i# 10.0003 A4
857 A B [0.0200 F 0.000241# [0.00024¢i# [0.0002 47
86| 7 Fur=r A ifn |0.0200 F 0.00024# 10.00025K4# 10.0002 41
87| NTVF A F A 0.030LF 0.0003 4 10.0003 4 10.0003 A1
88| FLFFrm—L & 10.0500F 0.00054# 10.000544# 10.0005 A1
89| 7oy Ik F A 0.0900 F 0.00094# 10.00094# 10.0009 A1
90| 7T Ak A B dFl 0.007PAF 0.00007 A1 | 0.00007 A1 | 0.00007 A
91| Furaiy—n FEiA 0.058LF 0.00054# 10.00054# 10.0005 A1
92| FuE IR Rl 0.0500 F 0.00054%4# ]0.00054ii#5 |0.0005 445
93| G —L A difh [0.03L0 T 0.0003 A4 ]0.00034i [0.0003 A
9|7 uETFE A difh [0. 100 T 0.001 47 [0.001 i [0.001 K
95|~ /L s [0.0200 T 0.00024i# ]0.0002Ai |0.0002 43
96[ -~ sy A ifh {0100 T 0.001 47 [0.001 K4 [0.001 K
97|~ ey ymy Rl 0.0900F 0.000944i# ]0.0009Ai# [0.0009 A
98| TSy A 0.00500F 0.00005 4% ]0.0000541# ] 0.00005 A
99|~ B Bl [0.200 F 0.0024:4H [0.002K4#  [0.0024K#
100~ F gAY Bl 10.300 0.003 A7 [0.003 A4 [0.003 il
101~ TTHNT A dAifh [0.0200 T 0.00024i# 10.000244i#5 10.0002 41
102| VT NFV o (RARVY) PRl 0.0100F 0.0001 A 10.0001 A4 10.000 1 A:Ji
103|~Nv7Lt—}h PRl 0.0700F 0.0007 A 10.0007 A4 10.0007 A:Ji
104|FAF 7B —] e ]0.00304 T 0.00003A4i#i[0.00003 473 | 0.00003 A
105|~FFF (=F/) el |0.TLAT 0.007Afi# |0.007A7H 0.007 A
106 A= 7" 1y7" (MCPP) il [0.0500F 0.000544i# ]0.00054i# [0.0005 A
107| A/ el |0.0304F 0.0003 A4 ]0.0003Ai [0.0003 A
108| A TH L)L A difh [0.200 T 0.0024:4H [0.002K41  [0.0024K#
109|AFHF A (DMTP) e ]0.00404 0.00004 A4 {0.00004 411 | 0.00004 At
10| AR /A PEE Y A% dFith |0.0400F 0.00044if 10.000444i#5 10.0004 A7
AN TV BREEA 0.0304 T 0.00034if ]0.0003Ai [0.0003 A
12[A7=F vk BREEA 0.0200 0.0002Aif 10.000244i#5 10.0002 471
13| A7 =L A 0104 0.001 47 [0.001KiH [0.001 K1
114[EVR—h Bl [0.005L0 0.0000544i#[0.00005 473 ] 0.00005 A

* RALIRBLLT o RATFNAY A TF T R—heL T




